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B.Com. DEGREE EXAMINATION, APRIL 2016.
III YEAR — VI SEMESTER
Major Paper XIX –– ADVANCED COST ACCOUNTING 
Time : 3 hours                                            						                               Max. Marks : 75
SECTION A — (10 × 2 = 20 marks)
Answer any TEN questions.
1. What is EBQ?
2.  What is Escalation clause?
3.  What are standing charges?
4.  What do you mean by Abnormal Gain? 
5.  What is Equivalent Production?
6.  Compute the amount of work certified:
          Cash received 	 – `480000
          Retention money – 20%     
7. A product is sold for `500,000 so as to show a profit of 33.33% on cost price. Find out the              profit on sales in rupees and in percentage. 
8.  Find out the cost of Job No. 113
          Materials consumed   - `40,000
	 	Wages                        - `20,000
          Factory overhead       - 20% on Wages 
          Find cost by presenting the Cost sheet of Job No. 113. 
9. Calculate abnormal loss/gain units:
Input  	- 5000 units
Normal loss - 20%
Output  - 4300 units       
10. Calculate the passenger kilometers covered by a fleet of 4 taxis run by CNN Travels from  
         Hyderabad to Bhuvanagiri (45 km) and back 4 trips each day with 5 passengers on an average 
         on each vehicle, for the month of April 2015.

11. Compute EBQ for a company using batch costing with the following information.
                   Monthly demand 	                  – 2000 units
                   Setting up cost per batch       – `120
                   Annual rate of interest           - 6%
                   Cost of Manufacture per unit – `6
12. Cost of Process X - `270, 000; Joint products produced X - 500 kgs: Y - 1500 kgs.          
           Market Price per Unit X - `30; Y - `20
            Divide the Joint-Cost on market value basis.
SECTION B — (5 × 5 = 25 marks)
Answer any FIVE questions.
13. Print well ltd., received an order for a job of 2000 letter pads. You are required to ascertain the amount to be billed to the customer at the agreed rate 20%. Profits on sales from the following additional data 
         Paper and other materials – `3000
         Labour – 10 workers working for a full shift of 10 hours claiming wages at rate of `20 per hour
 (
[P.T.O.]
)         Administration cost 1/3rd of the work cost, work overhead 50% on wages.              
14.   Given below are the contract prices, work completed, estimated cost to completion and notional    
  profits for 4 cases. Compute the amount credit that can be given to Costing P&L A/C:
	      Cases     Contract Price      Work certified       Estimated Cost     Notional Profit

	                      `                     `                         `                   `                   

	      1.             20,00,000               4,00,000                         -                     80,000

	      2.             20,00,000               6,00,000                         -                  1,20,000

	      3.             20,00,000             12,00,000                         -                  2,40,000

	      4.             20,00,000             18,00,000                  1,60,000           3,60,000 plus         
                                                                                                                Profit on work   
                                                                                                                completed                 



15.    A component item involves materials cost of `6 per unit and 10 minutes to produce. The operator is   
    paid ` 72 per hour and machine hour rate is `150. The setting up of a machine to produce the   
    component takes 2 hours and 20 minutes.
         Prepare a cost sheet showing production and setting up costs for a batch of 10 units and 100 units.
        
16. A salesman who needs to travel 20,000 k.m. per annum is oscillating between two vehicles, a scooter and a motorbike. Advise him on the basis of the following costs.
                                                                                Scooter                          Bike
              Purchase Price                                          `12,000                        `18,000
              Life in years                                                     6                                 6
              Resale value                                              `3,000                         `6,000
              Fixed Cost per annum                              `3,000                          `3,000
             Maintenance expenses per annum             `2,000                          `2,500
             Running expenses per km                            0.15                             0.09
17. In Process - A 100 units of raw materials were introduced at a total cost of `1,000. The other expenditure, incurred by the process was `602. Of the units introduced 10% are normally lost in the course of manufacture and they possess a scrap value of `3 each. The output of process ‘A’ was only 75 units.
              Prepare Process ‘A’ A/C and Abnormal Loss A/C.
18. Nair Products Ltd. manufactures two joint products ‘M’ and ‘N’ from a Single Production Process whose sales prices are `20 per unit and `60 per unit respectively. During Sept. 2012, 2000 units of ‘M’ and 1000 units of ‘N’ were produced at a joint cost of `28000 and they were sold. Their post separation cost was `10,000 for M & `20,000 for N.
             Apportion the Joint Cost.
19. State the difference between Job Costing and Contract Costing.
SECTION C — (2 × 15 = 30 marks)
Answer any TWO questions.
20. Sahara Products Ltd., manufactures a standard product. During the year ending 31-3-2015, the following production details are available:
        Output: 40000 Units; Opening Stock of Finished Units @ `50 each: 5000; Closing Stock of Finished Units 10000 Units at current cost. Sales were at `100 per unit.
         The inventories of materials and work-in-progress were:
                                                                     01-04-2014                         31-03-2015
                     Materials                                 `200,000                              `150,000
                     Work-in-progress                    `300,000                              `250,000
           
  The other expenses were:
          Productive wages    -  `10,00,000 ;  Depreciation (factory) - `1,00,000; 
          Materials purchased - `15,00,000  ; Work expenses            - `4,00,000
        Prepare a Manufacturing and Trading A/C for the year ending 31-3-2015 showing the cost of manufacturing and gross profit for the period.
21. A product passes through two process and then to finished stock. The normal wastage of each process is as follows:
           Process A- 3% & Process B - 5%
        		The wastage of Process A was sold @ `5 per unit and that Process B @ `10 per unit. 20,000 units were introduced into Process A at the beginning of January 2015 at a cost of `40 per unit.
        Other expenses were as under:
					Particulars 		                                Process A 			      	Process B
		Materials 		                                  ` 40,000         	` 60,000
			Wages 		                                      ` 200,000       	` 3,20,000
		Manufacturing expenses           ` 30,000         	` 28,500
          	Output (in units)                          19,000             18,200
          Preface the Process A/C, Abnormal Loss A/C & Abnormal Gain A/C.
22. A by- product Y derived from the manufacture of the main product XY. The by-product is further processed for sale. From the following data prepare an account showing the cost per Kilogram of products XY and Y.

	           Particulars                Joint expenses (in `)             Separate expenses (in `)       

	                                                                                                      XY                Y

	           Materials                              20,000                                 12,000           1,000

	           Labour                                 14,000                                 10,000            4,000

	           Overheads                             5,000                                   3,000            1,200


           Production: XY- 400 KG & Y-100 KG.
          Selling Price of Y- `240 (Profit on Sales @ 30%)

23. Parveen Travels, a transport company is running a fleet of 6 buses between two towns 75 KMS. apart. The seating capacity of each bus is 40 passengers. The following particulars are available for the month of April 2015.
         			      Wages of drivers, conductors etc. 	- 	`3,600
               Staff Salaries				                                 			- 	`1,500
               Diesel, oils, etc.                            			– 	`10,320
               Repairs & Maintenance 		               – 	`1,200
               Taxes & Insurance 			                       – 	`2,400
               Depreciation 			                                 – 	`3,900
               Interest and other charges 		            – 	`3,000
       		The actual passengers carried were 80% of the capacity. All the buses run all the days in the month. Each bus made one round trip per day.
    Find out the cost per passenger kilometre.
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